


S can complete a task in 50 days,

llz_ —,M l M-""’SH T can complete it in 40 days and M

s go N l‘s can complete it in 30 days. S can
"T \4 O éw 'S- M P work on all days of the week; T can
M 3.0 Q‘O S S (1'0 work only on Monday, Wednesday

léﬂ and Friday while M can work only
—on Saturday and Sunday. The work

is started on Monday. In how many
weeks it will be completed?
S Uh 1A &I 50 faar d§ g1 &%

IG Hbdl B, T 39 40 f51 § g1 9%
6;3 11— W awar 2 ok M =@ 30 R ¥ gw
week s?.{PT HX Ahdl 2| S Hwig & 9Hl fa=

éOQ —3 (a) Betweelllqtl to 5 weeks P17 P WHA ¥ T IIA WHAR,

4UdR 3R YHAR bl B B Adbdl
(b) Exactly 3 weeks 2 oefs M dad fErR dR AR

L/(chEtweenSto4weeks Bl B B ﬂdml?s‘lﬁﬂﬁ’l?@m
Iw B AT 2| I8 fHad www H

(d) Betwween 2 to 3 weeks g7 BIIT?




A thief steals a car at 3:30 p.m.
and drives it at 80 km/h. The theft
is discovered at 4:00 p.m. and the

owner sets off in another car at 90
km/h. When will he catch the thief?

Udh dTIX JUIE 330 §ui U B
gIdl @ 3R 39 80 fdHii /=er &l
XGAR A dolrdl 2 | 9 &I gdl 9
4:00 d9 del 3R HAfeld 90
fodt /ger & wfa 4 gud dR #H

et usar 281 98 IR &I Hd
qdhe 2

Vmﬁ p.m (b) 7:30 p.m.

(c) 7:30 p.m (d) 7:00 p.m.
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A shopkeeper offers a 20%
discount on all garments and offers
a further discount of 5% to those
customers who pay cash. What does
a customer have to pay in cash for a

jacket whose marked price is Rs.
7,2007?

U$h ghFaR GH1 dUsl W 20% &I
BC Qdl 2 AR I YTEDl Bl 5% DI
JfaRs Be Qdr 2 ol dda HIdH
& 2| (b e Hl 9 ddc D
fae g § feaar FaE &1 8N
foraat sifdd Yo 7,200 vud 27

’L‘QB—’{MI' WX) Rs. 6,972 (b) Rs. 5,760

PTRs. 5,472 (d) Rs. 6,048 \)(



Let _AABC ~ A@R and (Area of

e ——

4. If

QP @ m-ard AC =

#HT AABC ~ AQPR 3R (AABC &I
#9%d) : (APQR & &3%d) = 121 :
64 & | If¢ QP = 14.4 |, PR = 12

9 3 AC = 18 9 2 d AB @
AdIE L 8?
L/Mm (b) 16.2 cm

(c)21.6 cm  (d) 32.4 cm



In the following figure, MN is a
tangent to a circle with centre O at
point A. If BC is a diameter and
ZABC = 42°, then find the measure
of /MAB.

=1 smfa 4, 0 &% drd 9 @ fdg
A TR TP I I@T MN 2| afe BC
U AT & 3N ZABC = 42° B8, dl
ZMAB &I HTY SITd DIV |

(a) 45° (b) 42°
(c) 84° e 48°



The ratio of the cost price to the
marked price of a table is 3 : 4. The

shopkeeper ives two equal
?00 l@ pkeep 4 !

successive discounts of 25% on the

L marked price and sells the table for

.% Rs. 2,250. Find the loss during this
K transaction.

Uh A6 @ 3fbd Jou 4 @Ntd A

ad ®T IJqUId 3 : 4 | GHIHQR 3ifdd

U 25% Bl &l @M€} BT <dl ©
2,250 ¥Ud H dTar 2|

(a) Rs. 1,000 s. 750
(c) Rs. 500  (d) Rs. 250



Under simple rate of growth, the
population (P units) of a city
becomes 1.5 times of P in 10 years.
In how many years, the population
of the city would become double (2
times P) under the same growth
rate?

qaERY dfg ¥ @ dgd, fedl weR
@ SaEd] (P SHIg) 10 981 d P
&1 1.5 [T & il = | 99 gfg <%
@ ded fdad a8f 4 3w &)
WIEET AN (P @B 2 AT ®
SITgf1?

4120 (b) 15

(c) 17 (d) 12



Ifx+y+z=T7,xy+yz+2x=38,
then what is the value of x3 + y3 + 23
- 3xyz?

Hﬁx+y+z 7XY YZ+ZX Bfﬁ

(-1) (-;[23)(8 x3 + y3 + 23 - 3xyz B A FT 27
N



What is the simplified value of

the following?

fr=tferRaa &1 Wxellpa a9 F1 27

9
5 25

9+gof(9+6><4-2)+

5 6
1=+

8 16/

24+16-10+36+(5+20+4-1)

»

40

@) = 56
f | 51

(c) 20 (d) 56



During the first year, the
population of a city increased by 5%
and |during the second year, it
diminished by 4%. At the end of the
second year, its population was
gopulation at the end

5 RIF, U S Dl
'__;_c‘ W@Tﬁs%aﬁqlzgém?gﬂﬁ
99  SINH, I8 4% HH B T3 | g
98 & 3d H SHBI WHIGEEIl 30,240
@eﬂlumaﬂ‘a?afaﬁ'aﬂ?fweﬁ:
(a) 30000 (b) 30300

\ 45731500 (d) 31200



(a) 3

[

ko 1§

3
— days
8 y

* days

(b) 3% days

(d) 3—2 days

Bhanu can do a work in 10 days.
Ramesh takes 12 days to complete
it. Rohit takes as long as Bhanu and
Ramesh would take  working
together. How long will it take
Ramesh and Rohit to complete to
complete the work together?

I U s I 10 oAl # qr1 &
oAl 8 | WHI &l 34 GRT B H 12
feq1 ot Xifed & Saar & wHy
adl & foraeT 9 iR WY &l
|1 &M B H T XY
Adfgd o1 day &M qQR1 S
fora=m a9 eEi?

UdH
AR
3y



Ankita bought some toys at( 10
Qercent discoun® on the original
price. The original price of each toy
she made a total

toys did she buy

ifdar 7 Y dWd wx 10 gfawa 8
R §8 Rgdld @dic | @9 Radlq
® o dHd 50 $UF = | Ife S
&©d AdTdY 450 $9F &1 99d B, dl
SR Rae @d]?

(a) 75 (b) 50

\_t{ef90 (d) 45




A cyclist and a jogger cover a

certain distance at a certain speed.

If the jogger covers one-third of the

distance covered by cyclist in

C '3 double of the time as that taken by
the cyclist, the ratio of the speed of

3 : ..l the jogger to that of the cyclist is:
—-——>\'—'— Udh Yisfhd dATdd 3NN Th SR Udh
2 Piftaq Rt @ e ARTd <@ @
dd B | Afe SRR Aigfeéa dres
Q ERT @ & g ¢ &1 ya—fasE
gy arsfed daraed g1 fag g
9 @ QN[ 999 § 99 &Rdr 2, dl

%) 439 0)9: 1 Gtk & wfa sk wsfea ara® @)
(er17 6 (d) 6 : 1 a1y &1 srgura &



On an item, a shopkeeper offers a
discount of 7.5% on the marked
price and a cashback of Rs. 10 per

item. He still earns Rs. S per item. If
0925%" o 5 = CF Rs. X is the marked price of each

item then, what is the cost price (in
Rs.) of each item?

U 9% WX, Ud ghMHaR 3fbd Jou
R 7.5% @I B IR 10 9 "fa
AT UR DYUAP UM &l = | 98
arft +fY 5 vud ufa sgeH HHET 2 |
. I yA® 9% &1 ifed I X 2,

\1C) 0.925x - 15 3 A= a¥q &1 orTd qod (dud #)
(d) 0.915x - 15 g7 27

(a) 0.915x -5
(b) 0.925x - 5



The expenditure of a man is 70%
of his income. If his income will

sively increase by_20% and

S-D \ 4 gbkzo* 0% hen his new expenditure is

L)rﬁore, 50% (b) Less, 50%

how much percentage more / less
than his previous expenditure, so

that his new savings become 2.5
T —

times of the previous savings?
Uh 3JMeHl &1 Wd SHB! IJMA Bl

70% = | Ife IS9P I H HAPS HU
d 20% 3R 50% & gfg =rHfl, <
SUBT 9T I S9d Uvel ag 9
foa-r ufaera sifere /&5 8T, dife
SEPI g d9d Ul dad @1 2.5

(c) less, 54% (d) More, 54% AT B WTe?



A completes 80% of a work in 20
days. Then B join A and they

'2 g 3 complete the remaining work in 3
g_g days. How long will B alone take to

l § S" complete the whole work?

A fodfl S &1 80% WIT 20 o=l
15 qRT ®Ral 2| fY B, A @ W W@ @
% 3R 4 99 & 3 faAl § g1 Y od

2l @ d & H B Bl Add

fra=T W e

37 % days (b) 40 days

(c) 39 days  (d) 35% days



Sakshi and Komal together can

] @ complete a work in 10 days. Komal
|0 “D \ can complete the same work in 22
2.2‘_ f days. They started working together

but Sakshi left the work after 3 days

o Ty and Komal completed the remaining

qq_ + |§' work alone. Find the total number

—_— 1 of days in which the work is
5 5— completed?

qiefl 3R el Aad ¢ w1 Bl
10 oAl 4 g1 S 9Fhd B | HiAA
@ Sl s &1 22 feAF d gu @R

ol B S/IA U AIA S HRAT

% fehar dfes el 94 3 feq qg
(a) 88/5 days By92/5 days @I Bls fear 3R @a 7 A H

dbel g1 fHar| & gr1 814 A @
(c) 97/5 days (d) 44/5 days pgy 4 wwaT =i Fifare?



A bank offers compound interest
/ at the rate of 10% per annum when
\'SM'\ 32 interest is compounded half-yearly.

A customer deposits Rs. 3,200 each
on 1st January and 1st July of a year.
At the end of the year, what will be
the amount received by customer as

) iterest?
\(:0/ Ruae d¢ ufa adf 10% @ <X 4

dhqfE AT U HIAl & Sd TS

@ AR o ity we @ Waifem ot £

U TTed 3200 ©UA SHT HIdl © |

\jné%s (b) Rs, 656 T4® ¥ 1 Gad IR 1 ez I

98 & Jd H YIEd Bl A6l & ®U 4
(c) Rs. 720 (d) Rs. 528 o= wifdr uta =hf?




The value of

is:

@

(c) 36

16x9+40f2

3x(9-6|-2x3+4of;

(b) 9

¥
(d) 18 : ?

b



What is the difference between

between compound interests on Rs.

¢ 5,000 compounded yearly and half-
‘oquearly for 1 year at 4% per annum?

5000 ®UA UX 4% dshglg TSl Bl X
4 1 a91 # 9ifife wu 4 wIifod

g1 drd g1 3 siefarife wu 9

ggiford 819 drd & b | @1
AR T 27

(a) Rs. 2.04 ﬁ. 2.00

(c) Rs. 19.04 (d) Rs. 3.20



The ratio of the money with Geeta
and Radha is 7 : 15 and that of t
money with Ra a\n$Savitha 38 7 3
16. If Geeta has Rs7980, how much

b/‘u::vru&:},a' does Savitha have?
° fiar 3R e & 9rg Hige 49 @I

IFUrd 7 : 15 © AR wEr IR Glaar
& U9 Hige 99 &I 3Urd 7 : 16
g | afe far & 499 980 wUA =, dl
afadr @ g fea- dwr 87

(a) Rs. 2,400 (b) Rs. 2,100 'b
(c) Rs. 9,800 d;h/Rs. 4,800



A fast local train takes 30 minutes
less than a slow local train for a
journey of 60 km. If the speed of the
slow local train is 20 km/h less than

6 éo _ l the speed of the fast local train,
O — - what is the speed of the slow local

train?

2 Uh dul dibd ¢ 60 fdbdl &1 Ir=n
4 el v ¢ @ o H 30
fire @9 oY 8| afe it atea 9
&I fad a9 oidd ¢ b Tfd 9 20
foft /aer &9 8, a1 offt aiea 9
®1 TR T 287?

@ (a) 60 km/h) (b) 30 km/h
4140 km/h/ (d) 50 km/




A person travels from one place to
another at 180 km/h and returns to
the starting point by the same route
at 240 km/h. If the total time taken
iIs>6 h, then find the distance
between two places.

Udh gfth b M 4 O ©IHF a6
180 Tt /9ger &) wfa @ I=AT HaT
2 3R Sl 9l A/ 240 e /g1 )
T 9 RS g R dlear g1 afe
forar 71 @ w99 6 S B, @ <l
wHl @ 9 @1 g8 F91d s |

(a) 872.26 km (b) 720.84 km )
(c) 650.28 km Md1617.14 km



Urax

The length, breadth and the height
of a cuboid are 24 cm, 18 cm and 12
cm respectively. It is melted to
make smaller cubes. If the length of
the side of the cube is 6 cm, then
what is the number of cubes
formed?

Uh O9T9 DI @dlg, disls 3R $Hdlg
P 24 |HI, 18 |HI IR 12 |
21 34 BIc g9 991 @ forv frgamn
Sl 2 | afe o9 &1 {1 &I ddlg 6

aft 2, d 999 drad "9l B Gw=AT




The length of the rectangle is
three times its breadth. If its length
is decreased by 7 cm and breadth is
increased by 7 cm, its area is
increased by 21 cm?2. The length of
the first rectangle is:

(3""4) ""F") =% @ g wwd derd @
H ? 4T 2| AfS U@ d91g 7 9H HH

kg @) & WY SR aerd 7 A ger <

Y, df S9dT &9%d 21 9H° d9¢

SITdT 2 | Ugd 3Mad $) ddls o

(a) 21 cm (b) 18 cm
ter15 cm (d) 12 cm




A sum of Rs. P was borrowed and
paid back in two equal yearly
instalments, each of Rs. 35,280. If
the rate of interest was 5% per
annum and interest is compounding
annually, then the wvalue of P is

Zb‘L z\q_ P#ﬁwmaﬂwqﬂwd’raﬁ?
&l 99 aiftfe fewal § a9 qrae

foar AT o1, AP fhva 35,280 vUA
l'l\'” 538 Deﬂluﬁmaﬁﬁs'ﬂ'fuwﬁraﬁhﬁ

3R Gl | gl, dl
BAO 6 Pao‘rETrE 35?5;'@?3’_‘1”&&'

| (a) Rs. 64,400 \ﬁs. 65,600

(c) Rs. 65,400 (d) Rs. 64,800




A five-digit number 32054 is
divisible by 11. If the digits are

rearranged in increasing order, then
the new number which is formed

\1 5 will be divisible by:
qid APHl DI AT 32054, 11 9
fawrsg 2| Ife Ad & ded P9 H
ydafafterd fear wmg, @ W A3
g1 91 98 =1 9 fawrsa ghf:
(a) 3 (b) 11

@ (o5 (d) 2




s:_wmo kg of wheat at Rs.
12.50/kg and_30 kg of wheat at Rs.
14/ ml:-at rate per kg should

he sell the mixture to gain 5% on
the whole?

a1 1250 v9d yfa feur 40 feel
g @diedl 2 3R 14 vud gfa feur
30 foerl g wdadl 21 fd Farax
5% °TH 9T &< & foag S4€ g
ol fod < ufa g™ w a9

12 q?
(a) Rs. 14.80 U_m{zs. 13.80

(c) Rs. 12.80 (d) Rs. 11.80



A train runs at a speed of 90 km/h
in the first 10 minutes and 60 km/h
in next 25 minutes and 15 km/h in

2 last 4 minutes. What is the average

0
| speed of the train?
';F&" Mw?}ﬂqﬁﬁmﬁﬂeﬁgn

% %)Sﬁﬂﬁ/ﬂa 3 Tel fe # 60
6 feft /uer sk siftm Y e o |y
O 63 fofl /ger & wfa @ Fad 21 24
;ﬂ aﬁaﬁﬂﬁvﬁl(ﬁ%ﬁ/aﬂﬁ)m:ﬁ

11
s h 61-—km/h
(a) 1 m/h (b) 61 " km/

5
km/h (d) 65> km /h



The average of the first four prime
numbers that are odd is:

YU AR TS SN BT 3,
ol fawy 2

(a) 4.6 (b) 4

(c) 6 ﬁs



The value of the following
expression is:

fer=ferRaa arftreafe &1 99 2:
197 - [1/9 {42 + (56 - 8 + 9)} + 108}

k/ﬂ”g (b) 23

(c) 74 (d) 80



A, B and C can do a piece of work
in 8 4 and 16 days respectively.
How many days will A take to

8 Z complete the entire work if A is
assisted by B and C both on every

\1 ,'6 L’ second day?
6 / A, B 3R C Udh B HI HHI: 8, 4
——— AR 16 faai # &R Add = | AT A

| Qd")ﬁ &l & T} f&1 B 3R € QHT g
d Herdl fiadl 2@ af A @ SRl YT
4 R 50 e ﬁ%aﬁ'ﬁ? @
: 54/11 days
|/
} /(:) 7/8 days ){) 3/4 days







